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This session...
• how we assess, and agree and disagree with 

assessments

• how we complain and receive complaints

• focus on tone of voice

• use real examples taken from everyday 
conversation; become aware of everyday 
practices for handling complaints, and 
improve communication.
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1. Assessments: when speakers evaluate something
Assessments are a common action in conversation. Assessments can be done with adjectives (1)  or 
verbs (2):
(1) Kate and Jade; classmate

01! K! ! =she’s- she’s- she’s rea:lly nice isn’t she
(2) Lottie and Emma; nude swimming

01! E! ! I always h:ave liked to swim in the nude.

2. Agreeing and disagreeing with assessments
After an assessment (1!), the next speaker has a chance to make a second assessment (2!), which is 
also a place for them to agree or disagree. 
Agreements are generally done quickly, and with an expanded vocal range as compared to the 
other speaker. 
(3) Lottie and Emma; nude swimming

01! E! 1!! I always h:ave liked to swim in the nu:[de.]
02! L! 2!!                                        [M E]: TOO YOU KNOW

Disagreements are more complex. There are two broad types: outright disagreement, and 
mitigated disagreement.
Outright disagreement (2!) is done quickly and with an expanded vocal range. It can escalate the 
discussion.
(4) Marion and Wendy; window seat

01! M! ! I hate people that- seeing you eat
02! W! 1!! oh I like sit[ting in the window,]
03! M! 2!!              [oh       I       h:]Ate it

Mitigated disagreement usually involves: (a) a weak agreement (2!), with a narrower vocal range, 
followed by (b) a disagreement, or a reason not to agree (3!). Mitigated disagreement often 
includes an explanation of why the speaker disagrees. 
(5) Kate and Jade; classmate

01! K! 1!! she’s- she’s- she’s rea:lly nice in’t [she
02! J! 2!!                                       [she is nice,
03! ! 3!! .h I do find that she just says stuff just for the sake of
04! ! ! saying stu(h)uff though

3. Closing assessments
Assessments that summarise earlier talk are a common way to close something down and start a 
new topic. There is agreement (2!), but it’s done with a narrower vocal range than the prior turn.
(6) Lottie and Emma; sun

01! Emm:!! The SU:N'S COMING OU:T.
02! Nan:!! I know it.h 
03! Emm:!1!! Beautifu[l.
04! Nan:!2!!         [Jus' beautiful. 
05! ! ! (0.3)
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Agreement
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Assessment invites agreement
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assessment

agreement
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How to do agreement

To agree, do at least some of these things:

• Do it soon after the first assessment

• Use an expanded vocal range

• Use a stronger assessment term
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Straightforward agreementStraightforward agreement

Speed

Tone of voice

Word choice

Done quickly, no delay

Expand your vocal range as compared to other person

Stronger version of other personʼs assessment

Alice and Beth; Pepsi Max
01! A! ! I think we should talk about pepsi max 
02! ! 1!! and how it’s wei:r[d
03! B! 2!!                   [it’s disgusti:ng

Lottie and Emma; wig
01! E! ! did you WEAR YOUR WI::G?
02! L! ! .h YE:[A H .]
03! E! 1!!       [Is it] beautiful?
04! L! 2!! .hh Go:d Emma it's just go:rgeou[s.

Lottie and Emma; nude swimming
01! E! 1!! I always h:ave liked to swim in the nu:[de.]
02! L! 2!!                                        [M E]: TOO YOU KNOW

Lesley and Robin; schoolteacher
01! Les! 1!! [Ye:s.] Yes [she's just ticking over isn't sh[e.
02! Rob! 2!!                                              [Oh:: 
03! ! 2!! it's ridicu[lous.
04! Les! !            [Ye:s:.=

Agreement that changes the subjectAgreement that changes the subject

Speed

Tone of voice

Word choice

Done quickly, no delay

Use a narrower vocal range as compared to other 
person; speak more quietly

Stronger version of other personʼs assessment

Lottie and Emma; sun
01! Emm:!! The SU:N'S COMING OU:T.
02! Nan:!! I know it.h 
03! Emm:!1!! Beautifu[l.
04! Nan:!2!!         [Jus' beautiful. 
05! ! ! (0.3)
06! Nan:!! So:: anyway: let me: uh .hhh call Rol's mother,h (.) 

Outright disagreementOutright disagreement

Speed

Tone of voice

Word choice

Done quickly, no delay

Expand your vocal range as compared to other person

Opposite version of other personʼs assessment

Beth and Alice; Diet Coke
01! B! 1!! !no- well you see diet coke’s exa(ha)ctly the same

Straightforward agreementStraightforward agreement
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Tone of voice
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Outright disagreement
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njc/00.restaurant.aiff

((M and W are talking about a local Cantonese restaurant that they both like.))

1 f0 min = 236Hz(?) (win-) f0 max = 514Hz (like); high-mid in her range; 73.8dB (sd 
= 3.6) = 13.4 st
2 f0 min = 171Hz (hate) f0 max = 483Hz (hate); low-high in her range; 73.8dB (sd = 
5.3) = 17.9 st
The intensity measures here leave out a substantial period of overlap.

chimp: cf. plump, by same speaker. She has a way of producing stops that maximises 
the amount of disdain she wants to communicate!!

How many assessments here? 1-> and 2-> clearly make a pair, “I like X -- I hate it”, 
where X = it. But is 1-> a second to 0->? Perhaps not: according to Pomerantz’s 
scheme, they have to refer to the same things.

The second assessment is a direct contradiction of the first, and it uses a wider 
pitch range, from creak to very high in the speaker’s range. The first assessment is 
done overall high in the speaker’s range, with a low on “window”. “Hate” in the 
second assessment is done with a rise-fall, L*+H L-L%.

M we always end up in the window though which I normally don’t like but 
they’ve got really thick net curtains there °>so people can’t see in<°

0-> I hate people that- seeing you eat
W 1-> ^oh I like sit[ting in the window,]

M 2->               [ £#oh#       I   h:]Ate it£

(0.7)
W °^oh n[o:,°     ]
M       [#I always] feel like# some sort of per£forming chimp’£

(1.0)
M (* * *) I always seem to spill my dinner down my front that’s not good 

to be on public display
(0.5)

W .ph have you been in Coffee Republic

(0.4)
M (I) don’t drink coffee so it [would be a little bit]
W                              [   o:h          no:  ]

pointless=
W =I don’t but they do the most gorgeous hot chocolate and croissant

1-> upgrades 0-> and 2-> upgrades 1->: overt disagreement and oh-prefacing to index 
increased epistemic authority. Higher pitch range and span in 2nds.

22

Marion and Wendy; window seat
How do you think Wendy says I hate it?

10Friday, 19 July 2013



Outright disagreement
• Do it soon after the first assessment

• Use an opposite assessment term

• Use an expanded vocal range 

• Often a restatement of something that’s 
already been said or implied

• Usually: continued talk on the topic

• Usually: about things that don’t matter much
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njc/00.restaurant.aiff
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Marion and Wendy; window seat
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Mitigated disagreement
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Mitigated disagreement

• Socially delicate actions like disagreement 
are often delayed

• [weak agreement] + [disagreement]

• Use a narrower vocal range (lower, quieter)

• Provide a reason for not agreeing
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nrb/01.reluctant lover.aiff

1st ass’t: K seems to have less rights to assess than J (less knowledge of this 
woman)

2nd ass’t: primary rights

1 f0 min = 197Hz (nice) f0 max = 216Hz (nice); mid in her range; 74.8dB (sd = 4.3)
2 f0 min = can’t measure it f0 max = 229Hz (is); mid in her range; 68.1dB (sd = 5.3)

Weak disagreement: it confirms a version of the first assessment, but downgrades 
“really nice” to just “nice”. It’s followed by a complaint about the person. The 
second assessment is done faster, and with a slightly narrower pitch range than the 
first assessment. “is” in 2-> is not accented, though it has the highest intonation 
peak.

J he wouldn’t stop asking her out
he used to ring her like three times a day and she’d go “no: no:” .h or 
she’d say yes and not turn up 
and then she just completely fell for him

K ! a:[h: that’s love]ly=
J     [  °together°  ]
K 1-> =she’s- she’s- she’s rea:lly nice in’t [she

J 2->                                        [>she is n#i#ce,=<
=.h I do find that she just says stuff just for the sake of £saying 
stu[(h)uff though£

K            [yeah
[yeah

J [even  when she’s not got that much to say

26

Jade and Kate; reluctant lover
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Another way not to agree:
Change the terms of agreement
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Holt May 88 1.5 normal

This is a second assessment which looks like a first assessment. The second 
assessment does not accept the terms of the first assessment (normal). It recasts it 
so that there is another thing to agree or disagree about (slow). It’s a 
dispreferred response. The preferred response would (1) address the format of the 
first assessment more directly (e.g. by responding to the tag, or responding to the 
assessment directly, No I don’t think he is) (2) would take up the term of 
assessment more directly. The second assessment is done with a fall-rise. This would 
be projects more talk to come which distances Robin from the stance she has just 
taken, so the second assessment might be heard as something that is doing just 
enough agreement so as not to disalign with Lesley, but something which actually 
Robin is going to modify. This might explain why Lesley comes in so quickly with her 
(more specific) assessment of slow.

Lesley’s assessment is part of a more complex sequence. Her first question, How do 
you get on with… opens up the topic. There is a delay in the response, which 
indicates some kind of problem. The response does not address the question directly 
(i.e. it doesn’t say very well or all right). The response is an assessment of the 
boy Lesley mentions, not an assessment of her relation to him, which is how Lesley 
framed it. (Somehow I get the feeling that this boy is someone who the teachers have 
identified as someone to talk about.) Lesley’s response looks like a conditional 
agreement (he’s all right if you let him…). But it ends with a fall-rise, which 
projects some upcoming action which distances her from the stance she has just 
taken. 

Rob:     !Yea[h
Les:         [.hhhh !How d'you get on with Charles "Loft.

              (0.6)
Rob:     Oh he's al!ri":ght.[ [(!Ye:s.)

Les:                        [e[!Yes i- (.)if !you let him-m- (.) 

         gn: !just tick a"long in iz ow:n little ge:ntle wa:y,

Rob:     !Ye[:s.

Les: !     [.hh B'I !don't think he's normal do you:,

Rob: !    .hhhh (0.2) u-I think !he's "slo:[w,

Les:                                        [.tch I think his

         meta!bolism is, tre!mendously "slow.

Rob:     !Wh't wh't makes you th:ink'v "him. I mean I: obv'sly
         I'm getting t'know "him[but what is it=

Les:                            [.hhhh

Rob:     =tha[t worr[ies you.[

Les:         [.t    [!u-oo-  [gWe:ll u becuz last yea:r I: tried

         to: put a:: a firecracker under im a little

Rob:     Mm:[:?

35

Lesley and Robin; normal
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njc/00.brookside char.aiff

((Wendy and Marion are discussing a character from a soap opera. This character wore 
shoes that allowed you to see her feet.))

I think there are two assessment pairs here. 

First pair

1: f0 min = 162Hz (-kens) f0 max = 208Hz (bet-); high-mid in her range; 67.4dB
2: f0 min = 178Hz (-kens) f0 max = 250Hz (bit) high-mid range; 73.1dB

First assessment looks like it might contain some kind of correction to something 
earlier, “actually”. The second assessment comes late, and is not immediately taken 
up. These are clear signs that it is oriented to by both W and M as a disagreement. 
M goes on to expand on her second assessment by giving evidence that motivates her 
assessment, but this evidence is done in a slightly joking way. 2 is a phonetic 
upgrade of 1: wider pitch range, louder - but it changes the terms of the 
assessment. 

Second pair

1 f0 min = 211 Hz (nice) f0 max = 311Hz (think); mid in her range;
2 in overlap, can’t measure f0; mid in her range; 

W reformulates this as “nice”, which in turn M reformulates as “cuddly”; both 
positive terms. The second assessment here sounds like a ‘same’, neither up- nor 
down-graded. Because it changes the terms of apparent ‘agreement’, it could be 
understood as doing disagreement: changing the terms in the second assessment seems 
to be one common way to do disagreement.

M I thought she had really nice feet
W yeah I did

M that were not all scabby ahand hehe [°mh .mh
W 1->                                     [I think she’s 

1-> really attractive act#ually#,

(0.5)
M 2-> >she’s a bit< plum:p

(0.4)
you saw a few rolls there £while she was on the 
cou[ch::£        ]

W 1->    [yeah but I th]ink that’s nice;
(0.3)

M 2-> [cuddly;]
W [(* *) a]ttRACtiveness comes in all f- shapes and forms

M oh well I don’t like bony people
W (* *) bony
M °who was I noticing the other day who was bony°

W that’d be me with that skirt on

16

Marion and Wendy; plump
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• By offering a different assessment, you 
reject the other speaker’s version...

• but you offer another one of your own

• and offer another opportunity for the 
other person to agree with you

• This kind of disagreement leads to a kind of 
dance where people negotiate what they’re 
agreeing on.
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Words do one thing...
tone of voice another
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Fragment (16) Holt U88.1.10 pay

1 Ski that’s alright I just wanted to make sure: (.)
2 whether you’d p’hh gone back or no[t.h
3 Fre [yes I did.

no[I got that=
4 Ski [.hhhhhhh.p
5 Fre =thanks ’n I, I’ve also heard about th’of course
6 about the cash in toda:[y.
7 Ski1 [gYes::. yes isn’t that
8 1 good at l:ong la:[st. [((sniff))
9 Fre2 [that[s- that’s (.) very good

10 news. b’t’v cour[se it (0.3)
11 Ski [khhhhhhhh
12 Fre we’ll haf to pay out a lot a’that I [guess
13 Ski [.hhhhhh ihye:s
14 but at least it’ll bring us int’th’black hhh.hhh in
15 the middle of Ma:y whi:ch is just the time when we
16 should be[.kmhhh[hhh.glp.tk]lp
17 Fre [(0.5) [ih y e: s ]but buh[but (.) do we
18 owe:I mean=
19 Ski [u h h h h h h
20 Fre =ih- we haven’ paid any of the (Almans) ’n people
21 like that yet I[(take it)
22 Ski [eeyes we paid some of them-

In ll.5–6, Freddy announces that he has heard some news which Skip seems to be already
party to. Skip’s response at 1 in l.7–8 is to offer a positive assessment in the form of a
negative interrogative. As a negative interrogative, it strongly favours a positive, agreeing
response (Raymond, 2000, 2003; Heritage, 2002b; Heritage and Raymond, 2005). Freddy’s
second assessment at 2 in l.9–10, that’s- that’s (.) very good news is thus fitted in terms of its
sequential placement (in overlap, which is a property of a preferred—agreeing—response) and
in terms of its lexical format, which is to upgrade the first assessment from good to very good
news.

Based on Pomerantz’s description of the lexical make-up of second assessments, then, this
turn would be expected to convey strong agreement, because it has all the syntactic and lexical
features of such a turn, and is timed as a preferred action. On the basis of similar examples
discussed in section 4, we should expect this turn to be phonetically ‘upgraded’ as compared to
the immediately prior one.

However, 2 does not convey strong agreement, as it turns out. By withholding yes, the turn
prioritises confirmation over agreement (Heritage and Raymond, 2005), and so makes a claim to
epistemic priority in the rights to assess. Furthermore, this TCU prefaces a series of turns by
Freddy which treats Skip’s good news as something less than very good. In ll.10–12 Freddy says
that much of the money they have just got will have to be paid out; when Skip counters that the
money will put them in the black, Freddy talks about debts that are owed. The second assessment
therefore has the lexical and syntactic features of a turn which conveys agreement, but in fact it
prefaces a sequence of talk which undermines Skip’s treatment of the news as good news. Thus, it

R. Ogden / Journal of Pragmatics 38 (2006) 1752–17751770

Skip and Freddy; pay

words look like agreement

but doesn’t match 
Skip’s tone of voice

Skip gives reasons not 
to agree
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Closing assessments
(agreement)
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Closing assessments

• A method to bring a topic to an end

• Summarise what’s already come

• Agree with it, using a narrower vocal range

• Change the topic
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NB II.2;12

This comes kind of out of the blue. Emma has just asked Nancy (rather carelessly) 
about her lovelife.

Emma’s beautiful is loud and low pitch, with quite a narrow pitch range. (Does this 
make it phonetically difficult to downgrade?) Nancy’s next turn sounds more like 
it’s beautiful than just beautiful. The transcribed version implies an upgraded 
assessment, which phonetically this one is: there is a wider pitch span, and it is 
higher in her range than Emma’s. However, it is very quiet. Notice that it’s Nancy 
who continues, and with a new topic which leads into the closing of the call. This 
could indicate that the loudness is being used to mark this turn as accepting Emma’s 
assessment, but not wishing to pursue it..? If so, then why the gap? why not go 
straight in with the next topic?

Emm:  =What ti:me izzit I- I: WOKE UP et a::!six "this 

      mor:n[ing Go]:d what] izzit q]uarter after eleven?

Nan:       [O h : ]  m  y ] G*o::d.]
Nan:  ˚eYa:h,˚!
      (1.0)
Nan:  ˚Ya[h wul˚]!
Emm:  !!![The SU]:N'S COMIN OU:T.
Nan:  !I!"know it.h!
Emm:   ØBeeutifu[l.
Nan:          !![˚Jus'beautiful.˚!
      (0.3)
Nan:  So:: anyway: let me: uh .hhh call Rol's mother,h (.) a:nd uh,h
      (0.4)ther,h (.)  

55

Nancy and Emma; sun

24Friday, 19 July 2013



Complaints
in everyday conversation
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• How to complain

• How to receive a complaint

• How to manage the exit from the 
complaint (graciously!)
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• often: a series of negative assessments

• reference to inappropriate quantities (too 
much, not enough, too late...)

• extreme formulations

• expletives

• complainant as victim

How people complain
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How do complaints sound?

• High pitched and loud; they often sound 
expansive.

• Responses which match these in vocal 
register, like agreements, are treated by 
complainants as agreement with the 
complaint. 
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How do complaints end?

• Provide an assessment that summarises the 
complaint. This shows you’ve understood 
what the complaint was about. Say it quietly 
and gently. Works like a closing assessment.

• Acknowledge the complaint but don’t 
engage with the content of it. In everyday 
conversations, most complaints run out of 
steam. Risky in institutional settings!
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NB THE REASON FOR THE WIDE PITCH SPANS HERE IS THAT 

THERE’S A LOT OF CREAK. VALUES IN PARENTHESES = VALUES 

WHERE CREAK HAS BEEN DISCOUNTED.

Fragment XX is discussed in more detail in Ogden (2007). As with the 

prior fragment, (XX) is a series of complaints which the recipient, Lottie, 

refrains from aligning with. 

(7) #68 NB:IV:10:R gone to pot
Emma is complaining about a hotel where Emma and her husband have stayed.

5! E! ! ((complaints about lack of air conditioning, and

6! ! ! only two staff to serve breakfast))

7! L! ! yeah?

8! E! ! because (.) uy Bud couldn’t even eat his breakfast

9! ! A!! he ordered he waited forty-five minutes and he had

10! ! ! to be out there to tee off so I gave it to-uh (.)

11! ! ! Karen’s little boy

12! ! ! (0.7)

13! E! A!! ((swallow)) I mean that’s how bad the service was.h 

14! ! ! .hh

15! ! X!! .hh it’s gone to pot

16! L! ! "oh y[eah

17! E! !      [but it’s a beautiful golf course
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06! Nan:!! So:: anyway: let me: uh .hhh call Rol's mother,h (.) 

4. Complaints
Why do people complain? A common motivation for complaints is social affiliation: if two people 
agree that a third person/situation is problematic, there is social solidarity between them. 
What kind of response is a complainant looking for? Usually the complainant wants the listener 
to show that they understand what the complaint is about. The complainant might also do things 
to encourage the listener to go along with the complaint. 
How are complaints constructed? Complaints are often constructed over a longer sequence of talk. 
They often involve negative assessments. Things are presented with reference to an inappropriate 
quantity (too much/not enough; too long/too little time); they are described in extreme terms; the 
complainant can present themselves as a victim.
What does a complaint sound like? Complaints often have high pitch; are loud; they often sound 
expansive. Responses which match these, like agreements, are treated by complainants as agreement with 
the complaint. Responses which don’t match are treated as resisting the complaint. 
How do complaints end? Two main ways:
- Provide an assessment that sums up the complaint. Perhaps reuse an assessment that’s already 

been made. This can also be an idiomatic expression. This shows the complainant that you’ve 
understood what the complaint is about. Say it quietly and gently. This works like a closing 
assessment. 

- Acknowledge the complaint but don’t engage with the content of it. Many complaints in 
everyday conversations run out of steam. The risk in an institutional setting is that the 
complainant will feel not listened to.

(7) Lisa and Ilene; doctor

Ilene says that she’s kicked herself on the ankle. She moves to complaining about her doctor.

10! I! ! it’s probably a bruise, yeah
11! L! ! no it’s not, I think it’ll be sprained
12! ! ! the do[ctor says he wasn’t worried so that’s all ri[ght
13! I! !       [oh                                          [yeah
14! L! ! I’m glad he’s not worried I’m the one who’s living with it
15! I! ! yeh-heh-heh- hh-hh
16! L! ! he wasn’t worried when I broke my thumb twelve month[s
17! I! !                                                     [.t
18! L! ! ago and i[t’s still broken
19! I! !          [eh
20! ! ! (0.8)
21! I! ! oh really they are casual aren’t they
22! L! ! well he i[s
23! I! !          [yeah yeah
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Conclusions
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• Agreement and disagreement are done in response 
to someone else’s talk

• Complaints are a way for people to seek solidarity 
with their position. Complaints are often presented 
as things to be agreed with.
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• To agree: 

✴ Reply without delay.
✴ Your words should be stronger than the 

other person’s
✴ ...and your tone of voice more expansive.

• Agreement is the ‘normal’ expectation: not 
to agree takes more work, and is socially 
more tricky.
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• Disagreement takes more work. 

✴ Mitigate disagreement with weak 
agreement

✴ Provide a reason for disagreement
✴ Use a narrower vocal range than the 

other person.
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• Match words with actions.  

✴ Delayed agreement with narrower vocal 
range is heard as a prelude to 
disagreement.

✴ A display of understanding, even without 
agreement, is a good method for closing 
something down.
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Tone of voice is critical to 
deliver your message!
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Thank you!
Diolch yn fawr iawn!
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